

$$\{1\}, \{r, c, \varepsilon\}, \{d, \dots, q\}, \dots$$

$\begin{matrix} \downarrow & \downarrow \\ (n-1)^r+1 & n^r \end{matrix}$

$$\{1^r+1, \dots, q^r\}$$

$$\rightarrow \{q\delta, \dots, 11\}$$

$$\frac{11-9\delta}{r} = \textcircled{V3}$$

۱

$$\{1, r, c\} \quad \{ \varepsilon, \dots, 12 \} \quad \{ 1c, \dots, c9 \} \quad \{ \varepsilon, \dots, 12 \} \quad \{ 12, \dots, 12c \}$$

$\textcircled{1} \quad \textcircled{2} \quad \textcircled{3} \quad \textcircled{4} \quad \textcircled{5}$

$$\frac{12912 + 121}{r} = \textcircled{2\varepsilon 2}$$

۲

$$\begin{aligned} a_r, a_q, a_q &\xrightarrow{r^k} r, \varepsilon, 1 \\ \downarrow_{k=1} & \quad \downarrow_{k=r} & \downarrow_{k=r} \\ a_1, a_r, a_v &\xrightarrow{-rk+\varepsilon} r, r, 0 \\ a_r, a_\delta, a_n &\xrightarrow{\left[\frac{n}{k+r}\right]+a} -1, -1, 0 \end{aligned}$$

$$\begin{aligned} 1+r+\varepsilon+1+\varepsilon+r+0+1+1+1+1+1 &= 19 \\ = 3a + 2\delta = 19 \Rightarrow a = -2 \\ \frac{n}{k+r} - r &\rightarrow \frac{rk+r}{k+r} - r \\ = r + \frac{k-r}{k+r} - r = \frac{k-r}{k+r} &\rightarrow \frac{r}{r+r} = \textcircled{\frac{1}{r}} \end{aligned}$$

۳

$$a_\delta = 1\varepsilon \quad a_v = 1v/r$$

$$a_n = an^r + bn + c$$

$$a = \frac{1}{v_0} x - 1\varepsilon = \frac{-1}{\delta} \Rightarrow a_n = \frac{-n^r}{\delta} + bn + c$$

$$\hookrightarrow +rb = 1 \Rightarrow b = \varepsilon \rightarrow c = -1$$

$$\Rightarrow a_n = \frac{-n^r}{\delta} + \varepsilon n - 1 \Rightarrow a_{1\delta} = \frac{-r\delta}{\delta} + 9 - 1 = 1\varepsilon$$

$$a_1 = \frac{-1}{\delta} + \varepsilon - 1 = \frac{1\varepsilon}{\delta} \rightarrow 1\varepsilon \div \frac{1\varepsilon}{\delta} = \textcircled{\delta}$$

$$a_\delta = \frac{-r\delta}{\delta} + b\delta + c$$

$$a_v = \frac{-\varepsilon 9}{\delta} + vb + c$$

$$\frac{\varepsilon 11 + \frac{1\varepsilon}{\delta} - 2b}{\delta} = 3v/r$$

۴

$$\varepsilon d = b_v - b_r \quad b_n = an + b$$

$$b_v - b_r = vn + b - rn - b = dn \rightarrow \Delta n = \varepsilon d \Rightarrow d = \frac{\Delta n}{\varepsilon}$$

$$b_{10} = 0 \rightarrow 10n + b = 0 \rightarrow b = -10n$$

$$d = \frac{b_{10}}{b_1} \rightarrow b_1 = \frac{b_{10}}{d} = \frac{10n - 10n}{\frac{\Delta n}{\varepsilon}} = \textcircled{\varepsilon}$$

۵

$$\begin{aligned} \epsilon(a+d)^r &= \delta(a+\epsilon d)a + \epsilon(a+d)a \\ \epsilon a^r + \epsilon \delta a d + \epsilon d^r &= \delta a^r + \delta a d + \epsilon a^r + \epsilon a d \\ -\epsilon a^r - a d + \epsilon d^r &= 0 \rightarrow a^r - a d + \epsilon d^r = 0 \end{aligned}$$

$$\frac{a_\epsilon}{d} \rightarrow \frac{\epsilon d - \epsilon d}{d} + 1 = \frac{\epsilon d + \epsilon d}{d} = \epsilon/d$$

$$(a - \epsilon d)(a + \epsilon d) = 0 \rightarrow \begin{cases} a = -\epsilon d \\ a = \epsilon d \end{cases}$$

$$\begin{aligned} \epsilon b &= a + c \\ b &= \frac{a+c}{\epsilon} \end{aligned}$$

$$\frac{a^r}{\epsilon} = \frac{bc}{\epsilon} \rightarrow a^r = bc \Rightarrow a^r = \frac{a+c}{\epsilon} \times c$$

$$\Rightarrow \epsilon a^r - ac - c^r = 0$$

$$\rightarrow a^r - ac - \epsilon c^r = 0$$

$$a_n \rightarrow b, \frac{-c}{\epsilon}, \frac{c}{\epsilon} \Rightarrow a = -1$$

$$(a - \epsilon c)(a + c) = 0 \Rightarrow \begin{cases} a = c \\ a = -\frac{c}{\epsilon} \end{cases}$$

$$\Rightarrow \epsilon a = -\epsilon$$

$$\epsilon a = \epsilon b + c$$

$$b^r = ac$$

$$a = \frac{\epsilon b + c}{\epsilon}$$

$$b^r = \frac{\epsilon b + c}{\epsilon} \times c \rightarrow \epsilon b^r - \epsilon b c - c^r = 0$$

$$(\epsilon b - \epsilon c)(\epsilon b + \frac{c}{\epsilon}) = 0 \Rightarrow \begin{cases} b = c \\ b = -\frac{c}{\epsilon} \end{cases}$$

$$q = \frac{b}{a} = \frac{c}{\frac{c}{\epsilon}} = -\epsilon \rightarrow \frac{a_\epsilon}{a_q} = q^r = -\epsilon$$

$$\frac{a q^{\epsilon r}}{a^r q^r} + \frac{a q}{a^r} = \epsilon \rightarrow \frac{a q + q^r}{a^r} = \epsilon \rightarrow \epsilon a^r - a q - q^r = 0$$

$$\rightarrow a^r - a q - \epsilon a^r = 0$$

$$\frac{a^r}{a q} = \frac{a}{q} = \rightarrow \frac{q}{a} = 1$$

$$\frac{-q}{\frac{q}{\epsilon}} = \frac{-1}{\epsilon}$$

$$(a - \epsilon a)(a + q) = 0 \Rightarrow \begin{cases} a = q \\ a = -\frac{q}{\epsilon} \end{cases}$$

$$\begin{aligned} a_\epsilon &= \epsilon v \\ a_r &= \sqrt{a_\epsilon} \end{aligned}$$

$$\Rightarrow a_\delta \times a_r = a_\epsilon^r \rightarrow \epsilon v = \sqrt{a_\epsilon} \rightarrow a_\epsilon = q$$

$$q = \frac{a_\delta}{a_\epsilon} = \frac{\epsilon v}{q} = v$$

$$a_\epsilon = a_i q^r = a_i \times \epsilon v = q \rightarrow a_i = \frac{1}{\epsilon}$$

$$\frac{1}{\epsilon} - \frac{1}{\epsilon} = \left(\frac{1}{\epsilon}\right)$$